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STEP/Transformations Q1 (28/6/23) 

 

(i) What series of transformations is equivalent to a reflection in 

the line 𝑥 = 𝐿? 

(ii) What is the effect of a reflection in the line 𝑥 = 𝐿 on the 

function 𝑦 = 𝑓(𝑥)?  
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Solution 

(i) Translation of (
−𝐿
0

) , followed by reflection in 𝑦-axis, followed 

by translation of (
𝐿
0

) 

(ii) Translation of (
−𝐿
0

) : 𝑦 = 𝑓(𝑥) →  𝑦 = 𝑓(𝑥 + 𝐿); 

reflection in 𝑦-axis: 𝑦 = 𝑓(𝑥 + 𝐿) → 𝑦 = 𝑓(−𝑥 + 𝐿) 

translation of (
𝐿
0

) : 𝑦 = 𝑓(−𝑥 + 𝐿) → 𝑦 = 𝑓(−[𝑥 − 𝐿] + 𝐿) 

= 𝑓(2𝐿 − 𝑥)  

 

 

 


